
#include<at89x52.h>

#include<stdio.h>

/*

P0 for stepper control

P1_2 for ldr detect

*/

#define ldra P1_3

#define ldrb P1_1

#define ldrc P1_2

#define ldrd P1_4

unsigned char speed=20;

void delay()

{

unsigned char i,j;

for(i=0;i<speed;i++)

for(j=0;j<128;j++);

}

void dely(int i) //stop for 40 seconds

{

int j,k;

for(k=0;k<i;k++)

for(j=0;j<1250;j++);

}

void left(int i)

{

int k;

for(k=0;k<i;k++)

{

P0=0x11;

delay();

P0=0x33;

delay();

P0=0x22;

delay();

P0=0x66;

delay();

P0=0x44;

delay();

P0=0xCC;

delay();

P0=0x88;

delay();

P0=0x99;

delay();

}

}

void forw(int i)

{

int k;

for(k=0;k<i;k++)

{

P0=0x91;

delay();

P0=0x83;

delay();

P0=0xC2;

delay();

P0=0x46;

delay();

P0=0x64;

delay();

P0=0x2C;

delay();

P0=0x38;

delay();

P0=0x19;

delay();

}

}

void leftforwmix(int i)

{

int k;

for(k=0;k<i;k++)

{

P0=0x90;

 

delay();

P0=0x81;

delay();

P0=0xC0;

delay();

P0=0x43;

delay();

P0=0x60;

delay();

P0=0x22;

delay();

P0=0x30;

delay();

P0=0x16;

delay();

P0=0x90;

delay();

P0=0x84;

delay();

P0=0xC0;

delay();

P0=0x4C;

delay();

P0=0x60;

delay();

P0=0x28;

delay();

P0=0x30;

delay();

P0=0x19;

delay();

 

}

}

void rightforwmix(int i)

{

int k;

for(k=0;k<i;k++)

{

P0=0x09;

delay();

P0=0x91;

delay();

P0=0x03;

delay();

P0=0x82;

delay();

P0=0x06;

delay();

P0=0xC4;

delay();

P0=0x0C;

delay();

P0=0x48;

delay();

P0=0x09;

delay();

P0=0x61;

delay();

P0=0x03;

delay();

P0=0x22;

delay();

P0=0x06;

delay();

P0=0x34;

delay();

P0=0x0C;

delay();

P0=0x18;

delay();

 

}

}

void right(int i)

{ int k;

for(k=0;k<i;k++)

{

 

 

P0=0x88;

delay();

P0=0xCC;

delay();

P0=0x44;

delay();

P0=0x66;

delay();

P0=0x22;

delay();

P0=0x33;

delay();

P0=0x11;

delay();

P0=0x99;

delay();

 

}

}

 

void takeleft()

{

// forw(6);

right(22);

forw(20);

 

}

void takeroto()

{

// forw(6);

right(44);

forw(20);

 

}

void takeright()

{

// forw(6);

left(22);

forw(20);

 

 

}

void stop()//stop

{

while(P2_0!=0);

}

void main()

{unsigned char c,d;

int i=0,junction=0;

P0=0x00;

P1=0xFF;

P2=0xFF;

ira=1;

irb=1;

irc=1;

ird=1;

forw(13);

while(1)

{ c=P1&0x1E;

if(c==0x18)// if robot is at the center 

{

c=P1&0x06;

forw(1);

}

else if(c==0x1C)// if right misalign

{

c=P1&0x06;

leftforwmix(1);

}

else if(c==0x1A)// if left misalign

{ c=P1&0x06;

rightforwmix(1);

}

else if(c==0x00)

{ junction++;

forw(10);

d=P1&0x18;

switch(junction)

{

case 2:speed=15;takeright();break;

case 4:speed=15;dely(5000);takeleft();break;

case 7:speed=15;takeright();break;

case 8:speed=15;dely(5000);break;

case 9:speed=15;takeright();break;

case 13:speed=15;takeright();break;

case 17:speed=8;P0=0x00;stop();break;

}

}

else

{

forw(1);

}

//P0=0x00;

}

}


